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If a>0and b >0 then log(a-b) is equal to:

a a-b b) a+b
d) log(a)+log(b) e)  None of these

If a>0then log(a") is equal to:

a) n-log(a) b)  n-+log(a)
d) log(a)+log(n) e)  None of these

Ifa>0andb > 0then log (Ej is equal to:

a)  log(b)—-log(a) b)  log(a)—log(b)

d)  log(a) e)  None of these
log(b)

If 2 =5 then:

8  log,(2)=5 b)  log,(x)=5

d  x=2-log,(5) e)  x=log,(5)

Which one of the following statements is true?

8  log,2<log, 8 b)  log,2<log,8
d) log,1=2 &) log,2=log,8

log, 16 +log, 8 is equal to:

a) 2 b) log,8 ) log,2 d)

log,,(5*-10%) is equal to:
3 log,,(50") b)  3xlog,, (50)

D 3+ xlogyy (5) ° xlog (l)+3
10
2
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¢) log(a)-log(b)

¢) a-log(n)

¢)  log(a)-log(b)

¢) log,2=0

7 €) log,24

) 3x+log,(50)
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Q.8. If IOglo(Y) = IOglo(X) +2 then

a b c
) M:Z ) |og10 (ljzz )
log,, (x)
4 log, (x+y)=2 € log,(x-y)=2
9.
Q If Iog{l) =-1, then a equals:
a
a) 1 by 4 c) -4 d 1
4
Q.10. If log,(12) =1.079 and log,(3) =0.477 then log,(4) is equal to:
a)  log,(1.079-0.477) b)  1.079 c)
0.477
d) | 1.079 e)  None of these
0 —_—
a(0.477j
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1.079-0.477
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